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/D 9] o5} B | 7] o] 52 A v
o] L Moleh &, /D = 110° o]

BC, DM o] #4410 w4< P 21 511 AB ¢t DM ¢ w42
Q 2}l 514
/D =/BolRZ

/D + /ABP = 180°, ZABP = 180°—110° = 70°, ZQBM = 35°,
/MDC = /MQB = 55° (5912
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/QMB = 180° - (/MQB + /QBM)
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@O oABCDE H3A1¥E, AB//CD, AD //BC

@ oABCD+= B3AHE, AB//BC, AB = BC
® CABCD: B#@Ad, AB = BC, AB//BC
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AE : gAFCE: H3gArH g o]t}




23. THE % DABCD 7} B gl B 2.2

@® AO = 3cm, CO = 4cm, DO = 4cm, BO = 3em (h, H 0 =
A EEE)

@ZA = 150°, /B = 30°, £C = 150°

® AB//DC, AD = 6cm, BC = 6cm

@ AB = 10cm, AD = 10cm, BC = 8cm, CD = 8cm

® /A =110° £C = 110°, /D = 60°

@ /D = 360° — (150° 4+ 30° + 150°) = 30°0]22 /A = /C,
(B = /Do|t},
ut2bA] DABCD &= HaAIH ot}
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